1200 " SeArt.
1018 * by Rabart Buckley
1028 * The Awstrad User, May 1985

1048 BORDER' 20 INC 9,261 INK §,B¢TNK 2,261 INC. 3,2, HODE $1PEN.

1050 PLOT 0,8, 11DEG:Ke=:paslipe=t:{ [3)<2: 1 (&) =051 1, 1)=D
1858 3 (2)=24:PRINT CHRS (231 CAR10) 1ENV 115,181

1870 routing: M coiB,8l

1930 FOR £=3.70 7:FOR ‘g=0 T0'7:colf \g)aLaNEXT:NEXT

1098 PAPER 3:CLS:WINDDWA,2,32,2,21:PAPERML, 0sCLSHL
1180 FOR #=8 0 & STEP 2(PLOT 18+f 56+ s DRAN 5184 56451
1112 TRAN 5LB~#386-610RM 1844, 5647 NEXT

1128 PEN 2:PRINT CHR$(22)3CHRS (1)
1132 FRINT* Save * Load * Quit
1142 FRINT CHRS(22); OHRS (8) 5PEN 1
1150 PAPERRL,Q:WINDOWK1, 35,36, 3,8: CLSH1:WINIOWN2, 35,36, 10,

Clear!

58 PAPERAZ, 1:CLSNZ: WINDDMAZ, 35,37 11, 121 PAPERA2, BicL 542

1170 SYMBOL AFTER 1261 SVABOL 12,0,8,48,56,22,21 8,8
1160 SYMBOL 127,6,2,1:5YMB0L. 128,8,8,0,8,8,8, 128,64

1150 SYNBOL 129, 9,48, 16, 136,212, 168,24

1208 SYMBOL 130,2,8,8,31 16,18, 16,16

1210°SYIBEL 131, 16,16, 16,16, 18,31

1220 SIBOL 132,0,8,8,252,8,,8, 615YHEDL 133,4,4,4,4,3,22

| 1230 SBL 136,2,2,8,8,8,0,2,31

1240 SYNBOL 135,23,23,19,17,17, 16,56

| 1250 STBOL 138,0,0,16,32,32,16,8,246

1268 SYNBOL 137,257,254,255,254) 252,248, 76

1270 SYIBO0L 138,0,7,8,16,32,32, 64,64

1208 SYNBDL 135, 64,64,64,32,32, 16, 14,1

1290 SWEOL 148,0,224,24,4,2,2,1,1

1308 SWEOL 141,1,1,2,2,4,8,24,192

1310, PRINTRL CHRE (126);CHRS (128) CHRS (130) {CIRS (132

| 1328 PRINTHL CHRS (127); CHRS (129) ;CHRS U131 CR$(133)

1330 PRINTRL CHRS(134);CAR8 (136) ;CHRS (138) ;CHRS 1140)
1348 PRINTH1, CHRS (135) CHRS (137) ; CHR$ (139) 1 CHRS (141
135 FOR 1= 70 3iFOR g=0-TO 3:PLOT Soeg, 286+ 1t NEXT:NEX

T
1360 FOR =8 70 7:FOR g8 T0 74PLOT. 35beg, 2844f , 1 NEXTANEX
2

1378 SiMB0L 208,34,119,255, 119,34, 119,285,113

1308 SYMBOL 208,255, 255,255, 255,235,259, 255, 2354 e 208
139 SYHBDL 24, 136,68, 34, 17,136,68, 34,17

1400 SYHBOL 265,17,34,8, 136, 17,34, 86,136

1410 SYNEOL 209,63,17,68, 17,68, 17,58, 17

1820 SYWBOL 210, 187,239, 167,236, 167,238,187, 218

1430 SYMBOL 211,34, 34,34,255, 136, 134, 136,255

wa FOR 421 10 10IMINDONAT, 42,4241, 23, 44PRPERAS, B1CLEw

) PRINTAS, RS (4199);CHRS (£+199);CoR8 (F+199){CHRR 4419
9

1460 NEXT

1470 FOR 40 T0 620 STEP T2:PLOT 4414, 16:DR0R 8, 3200EXT
1480 PLOT 16, 14:0RAR 576,8:PLOT 14,46:DRAKR 57,8

1450 FOR {50 10 S:LOCATE $435, 16:PAPER £1PRINT" *;

1508 LOCATE £435, ISsFRINT” *} :NEXT:FAFER @

IS0 TR (=TT A ) TR B, T2
1520 FOR 458 T0 26PLOT 542, 144+ (44161 DRAR

1530 NINIOWS, 35,38, 8,21 PARERES, nn.:nmmwm 36,371

9,20
1580 PAPERAT, pasFENA pe: CLSAT



1550 PRINTHS, CHRS (u) ;HRS (u)  CHRS (! CHRS (Ul
1560 FIR =8 T0 b STEP SLOT St 270: AR
1570 FOR #2010 9% STEP S24PL0T 544,270+#: DRAIR 6
1560 as=CriR§ (124) 4CHRS (128) 154=CHRS (127) CHRS (129)

1680 IF <ol THEN upmdidow2iLesBiritfisd
1610 F kesd THEN up=721do=73slex74sri=T5;
1620 PRINT CHRS(23) ;CHRS (1) 1 TAG:FLOT 8,
1630 FRINT a833MOVE X, y=164FRINT b8}
1640 REN main bit

1650 1F INKEY (15)=0 THEN. 12016010 3000
1660 TF INCEY (13)=8 THEW 1=1160TD 3000
1678 IF INKEY (15 5070 3280
1680 1F INKEY ($)=3 THEN i

1698 IF INKEY (1e)=0 ANDG#in) B THEN inx=in-2:60T0 1728
1780 1F INKEY. (r1)=0 AND xhink) (608 THEN ink=inx+Z2 8010 17

2
1710 vt
1720 1F INEY. (w1 =B AND(y#3ny) (398 THEN iny=iny#2:6070 17

2

1730 1F INGY {da)=8 ANDIywiny)y32 THEN inysiny=2:670 175
]

1749 iny=3

1750 1F (ol THEN inxaté

1760 1F iny>16 THEN dnyslb

1770 17 INCEY. 14112 THEN mu

1780 IF routine=2 THEN cetid

1790 IF routine=4 D OB am 00 THEN 2500

1600 xextinyeyhany

1810 1F xOxt R vyl THEN 1830

1820 GOTO 1440

1638 PLOT B2, LiNOVE x, y5PRINT a8; tHOVE 1, yL=16:PRINT b

0

1848 MOVE x,y1PRINT a$j i NOVE & ,y-16:PRINT bljaxi=xivisy
185 E0TO 1640

1840 REN fire button pressed

1870 1F %212 AND #<SEB AND y)06 AKD y<384 THEN 2578
1860 IF x)SA2 AND x(568 AND 7349 AND y(36B-THEN 2130
1890 IF )543 AND xC602 AND y»348 AND y(368 THEN 2250
1980 IF x)574 AND y>306 AND x(&32 AND y(I38 THEN 2440
1918 IF %7542 AND x\565 —MD 7275 AND y(IR4: THEN SCIND 1,2
99,2,15,11po=1:60T

IFZI IF x)568 AND. n(bL AND y)276 AND. y<30% THEN BONND 1,2
02,2,15,1:po=0: GOTO 1642

1938 IF %)542 AND y)328 AND X(572 AND y(334-THEN 2368
1940 IF x)542 AND y)148 AND x(602 AND y(175 THEN 2313
1950 1F %212 AND y)20 AND x(SB4 AND <58 THEN.2170
1968 IF y)390 THEN 1980

1978 500 1,102,0,15,1:8070 1842

1980 IF %410 AND x<492 THEN 2032

1993 IF %)286 AND x(346 THEN END

2000 IF x7154 AND x<222 THEN 2060

2012 IF %323 #ND x<52 THEN 2059

2020 6070 1972

|

20 BOSUB S0 TABCRFAFRINT C#(23)CHR$ (01

2040 FOR =18 10 510 STEP 2:PLOT 4,44, 2:0RMR 3, SLAINEXT
2858 PRINT CHRS(23);C4R8(1); 1 TAGIGOSUB JE34;6010 1642
2060 SOOND 1,200,3, 15, 1:0UND 1,50,@, 15,15 50UND 1,200,2, 13

{

'

2078 GOSUB 3230

2089 LOAD® smart , sce ,LCO00: GOBLB 3038:6070 1640

2098 S0ND {,282, 8,15, 1:500ND 1,508, 15, 150N 1,202,2,15

i
'
210 FOR =1 0 SAQ:NEXT: 505U 3030
2110 gB=INKEN$:IF g8="" THEN 2118
2029 SAVE® snart. scr" b, 40080, 1400 GOSUB 383016010 1640
2130 (05D 3050 5-CHRS 1261 $LHRRLZB)sh4=CHRS 127) 40K 1
2
2040 CLSAZ:PRINTH2, 48308 :605UB 3350
2150 SOUND 1,280,8,15,1
2168 FOR 4=} 0 20:NEXT:rauting=15070 1450
2170 RER cheose hatch
2080 usr-10i=INT(L/32)
2199 L= 200:WINDOHAS, 35,38, 18,213 PAFERAS, 140503
2289 WINDOWAS 36,37, 19, 20:PAPERA, pasPENKS s CLSNS
2210 PRINTHS,CHRS 1) CHRS u)CHRS (u) HRS (1
2229 FOR f=0 10 7:FOR g=8 10 73 J=TESTL(£42) 4563, {g42)452)
2230 colf7-g) = NEXTINEKT
24 070 1760
2250 REN rectangle of Doc routing
2048 GOSUB. 3030: a4-ChRS (130) +CHRS (132) b8=CHRS (131)4C-R8 (1
3
2270 CLSHZFRINTHZ, 2858 1as=CoRs (126) 103 (128)
2280 GF=CHRS(127) 4DHRS (129) 160SUB 3030
2290 5000 1,280,0,15,1
7380 FOR 451 10 2OUNEXTiroutins2150T0 1640
2340 kex-S4Bs ke INT (k/ 361
2320 IF y)=168 THEN pe=k ELSE pask
230 WINDOWNS, 36,37, 19, 20:PAPERS, pas PEWS
234D PRINTHS, CHRS () ;CHRS (ulCHRSu) 3
2350 FOR. =0 70 74FOR g=0 to7aj=TEST{(£42) 550, (g#2)+30)
2340 col#,7-g) =5sNEXTINEXT
2570 GOTO. 1560
2350 REN set up f111 conmanc
mu BOSUB T038: a$=CHRS {1341 $CHRF 136) 1b$=CoR8 1351 4CHRS (1

mu CLSH2: PRINTHZ, o818 ab=Chits (1261 1CHRS (126

2410 o$=CrR (127)+CKRS (129)1B0SLB 3030

2478 SIUND 1,200,0,15, 4

2439 FOR §21 70 208:NEXTsrout ine=2:60T0 1640

2449 REN rectangie of cblong routine

245D BOSUB 310: a$=CHRS (1181 4CHRS (142) 58=CHRS (139) 4438 (1

264 CLEA21PRINTH2 a¥i M.m:wumwcms\um
2470 D4=CHRS (127)4CHRS (129)360SUB 3

2439 SOUND 1,208, 15,
2499 FOR f=1 10 20B:NEXT: routune=4: 6010 1640
2580 REN draw circle




2518 PLOT cd,pei IRAK c1,d:DRAN 1,1 DRAN ¢ d1iDRAK ,d | 2768 xxediysy: m-vzsmx,y: s
2578 TASOFFAFRINT CiRs (231, CoRs ) 279% FOR f2y T0 380 STEP
2530 clalcox)/2id1= (d-y) /2iPLOT cLixsclUGING) GloysalaCOS | 2880 IF TEST(s, 200 »cn %3

@1 2818 PLOT s,#-2,co((s KO 16172, (f MO0 161/2)
2548 FOR =3 T0 360 STEP 18 2820 NEXT

2558 TRAA ClextclaSINGE) d1yataCOS ) sNEXT 2830 FIR fey-2 TO &6 STEP-2

2560 PRINT CHR#(25); CHRS (1) s THG: cofs d=0: 8310 1600 2640 IF TEST(s, #-2) 0 THEN 2870

2570 REX #ind out routine 2852 PLOT 5,§-2,col(s MOD 16)/2, (F MDD 16)/2)

2590 ON routine GISUB 2630,2493,2768,2650 2660 NEXT

259 GOTD 1608 28 I TEST (5 z,y)o. THEN sZ24+2:60T0 2690

2600 THGOFFSPRINT ChRS (231 jCHR8 D) 80 5=5-2:6010 7%

2610 IF inx)2 THEN in=2 ELSE IF nw(-2 THEN ink=-2 2898 FOR = 10 368 srzr 2

220 IF i0y)2 THEN iny=2 ELSE IF iny<-2 THEN iny=-2 2908 IF TEST(s,4-21<0 THEN 2930

2630 IF po=B THEN 2470 291 PLOT 5,4-2,cai Is HOD 16)/2, (F MOD 161/2)

2648 FLOT x,y-2,cal(x MOD 16172, ty HOD 16)/2) 2928 NEXT

2630 FLOT x,y,col(x KID 16)/2, ((y+21KID 18)/2) 2930 FOR f=y-2 T0 b ETEP-2

2668 PLOT x#2,y,col((x+2)40D 16)/2, ({y+2N0D 161/2) 2940 IF TEST(s,f-20Oa THEN 2570

2678 PLOT x42,y-2,ca( [ (x+2) KD 16)/2, (y MDD 16)/2) 2950 PLOT 5,i-2,c0((s M0D 16172, 0D 16)/2)

2688 PRINT CHR8 (281 ;AR (1) 5 TAGH RETURN 2968 NEXT

2658 REN box bit 2970 1F TEST(s+2,y)%a THEN FRINT CHRS(Z3);CHRS (1)1 ThGA=
2708 1F cOB IR dOB THEN 2730 y+4:BUSUB 038sRETURN

2710 congeyiclacidi=g 2950 5°5+2:607C 2690
2720 PLOT c,d,pa:DRAW x,dzDRAN x,y:DRAW < ,y:DRAN c,d 2990 REN data for hatching
1DRAN c1,d1DRAW c1 ,d1:DRAN c,d1:DRAK ¢,d 3009 i 1) i) +1:1F § 161526 THEN 1 ()=
2748 PLOT c,dsDRAW x,C1DRAK X,yiDRAW ¢,y:DRAN c,di = | 3018 INK i i (i):BORDER 1(3):FOR =1 TO 20B:NEXT
¥ 3220 B0TO 1490
2750 RETURN 3839 REN exchange characters
276D REN Fill routine 2, LHKOVE %, y1:PRINT ak;sMUE x,y-16
2770 6OSUB 3030 TAGOFF1PRINT CHRS (23) jCHRS (2) RETURN




